
 

Anne Somalwar

1 X o I a I 2 2

n 2 6 1 Xin 3

Used Orbk 3 Z 2 2 13 213 1 l 2.3

999,1000

and got 2 686 10208 4.347 1009

Then 4.396 16180



2 It x I X I Yax

a sax I X I 42 7 0

x

Checked with EquP 024 7 4 x Cl ExD
Cx

b Fix Sx I X I Yax

Ex 42 2 CI Yax

x 94 2 512 2 34 3

F x 42 Sx Sx 14 2



F o 5 2 70 so O is not stable

F i 42 2 S My 5 0 so

I is stable

F 2 92 5 10 15 5 2 SO so

2 is not stable

Checked with

SEquP CHIKA A A A E x

G



c x o O I

ApproximalelyO9999f
Checked with

dsolve diff XG t CAN CI IA E x

07 0.1 Ext

plugging in t 100



3 x n Saxena l Xan D I YzxenD

a Used

FP CERA A X A E x Ex

Col FI Fo

b Used

SFP CERA A X A E x Ex

312 F 0.475



3

Used Orbach x A X A E x Ex

C I 1000 1000

0.4753049232



4 a 4 43 v43 w Ys

Unt Unvn 2Unwn Y2VEt Unwn

v 8 Yz 2 8 Y Yz Ys Ys

Checked with

HW 43,43

b stabilizes after one gen



S a Used

HWg 43 43 1,2 I Cl 1,13 El 1,13

b Used

F Aug u u Ca2,13 Gil D G 1,13

OrbFCF Cup 43 433 999 1000

0.39746618142



6 Used

SFP I 9 Azt Xt Hy

Ctx 3 y 37 2 9 Cx y

10.4705902280 0.74787890823

Then

Orb txt 9 Azt Xt Hy

Hx 3 y 37 2 9 Ex y

100 100 1000 1010

10.4705902280 0.74787890823



SO

y 400

I 0.7478789082

a Ro NI a 10 80 42 El

so there are removed in the long
run



b Ro 1 so

5 8 I 71.43

I RYE 05 1
9 431 4.6198

12 1000 21.43 0.1421 923950

c Ro NI 1081 I

top I p



8 a

F c GeneNet 0,1 0.2 2 M1 m2 m3pl p2 p3

SEquP F Eml M2 m3 pl p2 p3

0.68232780382

b

F c GeneNet 0,3 0.2 2 ml m2 m3pl p2 p3

SEquP F Eml M2 m3 pl p2 p3

yes 1.213411



d

F GeneNet O 7.39 0.2 2 ml m2 m3 pl

pl p3

SEquPCF Carl m2 m3 pl p2 p33

1.777163792 1.777163792

F GeneNet 0,7 4 0.2 2 ml m2 m3 pl

pl p3

SEquPCF Carl m2 m3 pl p2 p33

0



47.390

9

a F Chemostat N C 2.5 2.7

SEquPCF.CN.CI

115.083333 0.6666773

5.0833332



b 0.666672

unless there are no

bacteria to start with

10

0.1 0.2 0.1 0.1 0.1 0.1 0.1 0.1 Oil
2
3 0.1 0 1 0.2 0.1 0 1 0 1 0.1 0.1 0.1

i

0075 0.075 0075 0.075 0 4 0.075 0.075 0.075 0.075s

7 0.05 0.05 0.05 0.05 0.05 0.05 0.05 of 0.05

i



Using the above matrix as M

N

I Y i

a 0.0769232 7.69 0

b 0.1538462 15.38


